Math 246 (9-10am), Quiz 3.

Show all your work! Use the most efficient method you know!
0. Write your name here:

1. Consider the discrete time dynamical system z,4; = 52—4{3 with

initial condition zp = 1. Compute z,, 9, T3, 7.
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2. Assume that the concentration of a medication in the bloodstream

is described by the dynamical system Af,,, = .4M, + 3 with initial
condition My = 0. What is Mg approximately? Explain your guess!
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3. Consider the discrete time dynamical system a1 = 2a,(1 + ;).

Find the fixed points and determine their stability.
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